

THE ELECTRICITY SUPPLY CORPORATION OF MALAWI LIMITED

MALAWI ELECTRICITY ACCESS PROJECT (MEAP)

ADDENDUM No. 1

TO CONTRACT NO. MW-ESCOM-196024-GO-RFB

SUPPLY AND DELIVERY OF SINGLE PHASE DIN RAIL SPLIT PREPAID METERS, 63A SINGLE PHASE MCBs, 2 WAY IPH SPLIT PREPAID METER POLE TOP ENCLOSURES, AND READY BOARDS

BETWEEN

THE ELECTRICITY SUPPLY CORPORATION OF MALAWI LIMITED

AND

INHEMETER COMPANY LIMITED

JULY 2023

INF 银河

Addendum No. 1

This ADDENDUM No. 1 (hereinafter called the "Addendum") to the Contract (hereinafter called the "Contract") is made the _____ day of the month of ______ 2023, between, on the one hand, the Electricity Supply Corporation of Malawi Limited, having its principal place of business in ESCOM House, 9 Haile Selassie Road, P.O Box 20147 Blantyre, Malawi (hereinafter called the "Purchaser") and, on the other hand, Inhemeter Company Limited (hereinafter called the "Supplier").

WHEREAS

WHEREAS the Purchaser invited Bids for Supply and Delivery of Single Phase DIN Rail Split Prepaid Meters, 63A Single Phase MCBs, 2Way IPH Split Prepaid Meter Pole Top Enclosures, and Ready Boards (hereinafter referred to as "Goods") and Provision of Factory Acceptance Test (FAT) (hereinafter referred to as "Services") and has accepted a Bid by the Supplier for the supply of those Goods in the sum of Two Million Two Hundred and Fifty-Six Thousand Dollars (USD2,256,000.00), (hereinafter called "the Contract Price"). The Contract Price excludes VAT and other taxes payable in the Purchaser's country.

The Purchaser and the Supplier now wish to amend certain terms of the Contract by modifying as follows:

- 1. To increase quantities of three items (Single Phase Meters Split Type, Single Phase MCBs and Two Way Meter Boxes)
- 2. Amend delivery period

Initial Contract Stipulation:

WHEREAS the Purchaser invited Bids for Supply and Delivery of Single Phase DIN Rail Split Prepaid Meters, 63A Single Phase MCBs, 2Way IPH Split Prepaid Meter Pole Top Enclosures, and Ready Boards (hereinafter referred to as "Goods") and Provision of Factory Acceptance Test (FAT) (hereinafter referred to as "Services") and has accepted a Bid by the Supplier for the supply of those Goods in the sum of Two Million Two Hundred and Fifty-Six Thousand Dollars (USD2,256,000.00), (hereinafter called "the Contract Price"). The Contract Price excludes VAT and other taxes payable in the Purchaser's country.

IEMI 电力

Table 1: Initial Contract Price Schedule

N o	Description of Goods	Country of Origin	Original Quantity	Physical Unit	Original Unit Price US\$	Total CIP Price in US\$	
	(a)	(b)	(c)	(e)	0)	(exf)	
1	Single Phase DIN Rail Split Prepaid RF Smart Energy Meter	China	50,000	Each	32.45	1,622,500.00	
2	63 A Single Phase MCB	China	50,000	Each	1.20	60,000.00	
3	Enclosure, 2-Way 1Ph Split Prepaid Meter Pole Top	China	25,000	Each	17.00	425,000.00	
4	Ready board	China	5,000	Each	20.00	100,000.00	
5	FAT and Training Fee	China	1	Sum	48,500.00	48,500.00	
	TOTAL PRICE CIP						

Addendum No. 1 Contract Stipulation

WHEREAS the Purchaser invited Bids for Supply and Delivery of Single Phase DIN Rail Split Prepaid Meters, 63A Single Phase MCBs, 2Way IPH Split Prepaid Meter Pole Top Enclosures, and Ready Boards (hereinafter referred to as "Goods") and has accepted a Bid by the Supplier for the supply of those Goods in the sum of Three Million Four Hundred Twenty Thousand Nine Hundred Fifty Dollars (USD3,420,950.00), (hereinafter called "the Contract Price"). The Contract Price excludes VAT and other taxes payable in the Purchaser's country.

ETER CO., L 集团股份有限

Authorized

Table 2: Addendum No. 1 Contract Price Schedule

Line Item N°	Description of Goods	Addition al Quantiti es	Physical Unit	CIP Original Unit Price in USD	Total CIP Price in USD
1	Single Phase Meters Split Type	23,000	Each	32.45	746,350.00
2	Single Phase MCBs	23,000	Each	1.20	27,600.00
3	Two Way Meter Boxes	23,000	Each	17.00	391,000.00
	To	1,164,950.00			

Addendum No. 1 Delivery Period Stimulation:

Ten (10) weeks after Advance Payment.

Table 3: Addendum No. 1 Delivery Period Stimulation

Line Item N°	Description of Goods	Additional Qty	Unit of Measure	Delivery Place	Delivery Period
1	Single Phase Meters Split Type	23,000	Each	Blantyre	10-Weeeks
2	Single Phase MCBs	23,000	Each	Blantyre	10-Weeks
3	Two Way Meter Boxes	23,000	Each	Blantyre	10-Weeks

NOW THEREFORE the parties hereto agree as above;

All other contract conditions not affected by this Addendum remain unchanged.

TD. 公司

IN WITNESS WHEREOF, the Parties hereto have caused this Addendum 1 to be signed in their respective names as of the day and year first above written.

For and on behalf of The Electricity Supply Corporation of Malawi Limited

Kamkwamba Kumwenda

Chief Executive Officer

I Roy and on behalf of Inhemeter Company Limited

银河电力集团股份有限公司

Name:

Director

Kuthorized Signature(s)